BARALK. b

[« Cie Lt &L 7;>LZ+M+£=—>L ® X+4ax+41+4b=0 .0
Cel 1z x= 12 HI30T @m x=12 BHitn

s fax+ 4z €b = (x-1)

s 2 ]
Do $iit a=-3. beg

) (2% ,QE@'E i+ nA 4 C =

A & mAe(n+)arC=0-.@

C2¥R 13 =-22T3HI3AT @ I3 2-22 EBes (mso)
Mm% (M s C = m (242 )D , m% 0O

43,‘2\:&¢§L'Z N+l = 4m ,

F). n =

C=4m

4dm-1, = hZ mn 1z

a2 2
Mmn = m (dme1) = 4m - m :4(“1_%).-][—4

:c{«h"a%;l\‘c‘_/ZJZ’mla m=lat2 (‘:m;;i_{«},?) geilcat 2 mn =3, N=23.
mel, h=2, C=4
[ 3 J
| Culi Ji= gxi- sl Z
() j'—' 7[424'37("'4
I 2
£iday 3'712- %M 3 = xt3In+4
'xa-i-f:?L-i-j' =0
we=-=1.-1

| 2
f—i’ ;:-?La— ;JM—E; - (x+3244) da



BRBLK .- Fu

2 i SONR 2 U B P A AR i<t
&y (ol+g)=af+zazfl+(s=5' < o(+(s=;ng)\ op = —-
(2) ﬁgt’{%ﬁm&t{ﬁ

) LK
X~-Sx+ 5'2 =0

5> o 2 AM 0 2B p S ke KRR EH R R,
LR 2L

0

D= s'-4 22 <o © s>, s<¢-J=

CHWE
)W 9 . s
2 sz-\ ) 2 tLka 1
W =Sx+— ) x =25 tx =St 35
2 2 &
5 s"__g
x s Hx
z 1 1 g
-5 (e —sSg & o8 b
2
o st —atei e
2
R s I
(¢-25% g 35435 -3°
3 ¢ 1 [ 2 2 &
Qw = x-5 Ry = (t-33°+ 322 + 35"+ 35% 3

Gy Fou= 08 A" (- o Pk - B¥itr22c530T o Ra) =0 7

3? 1 i 1 £ 1 2 2
&'JZ t—'is-i-—a"_ﬁh? "és-}--zs-— &_g—b

wnl—

7%, 3 3
(5458 5= o, -3

= - i =2
"mag[’)vﬁ:ﬁ‘hgﬂl" S=-~g

>
S:-—Im‘c?: t:(%f__%: ?'_3.
3 23
g-...a. ., E= -E- g
(o A5 12 9L2+f—2JL+'§=.b vA10 2k ey
o o
=

” 2 . 4o e =
{':J[-;mf]:'[’l‘a. Ry =x+ 3 [+ SR

ME &y P 2
A = 4 ¢ 4 . 2




BARALK. by

3 ) -1 < < X+ | {E"f:‘)‘. S.filﬁim’o‘)'&iéﬁé?').

el Y (el)=oc Ao X+ <x 4+ (x-t) 810 L ¢ xHy 2

= 2 2 2
(2) | casc BAC = PATAC- B0 (X )y (xar)} 25

7ttt 2(x—=) O+ )
- x 2
2(x*1)
(3) (1) AP = AB x 4 AC x4t a_‘_\
rcyse el x4t 2xtl
2
2
AB = AP » tas<BAC = =2t
. 2(@=xa)
x4l
Gi) %,_.: X1 - S loi0) = 49[21-42.1-2:11,/{— ;L:_/ _ 3 (a+2) _)(. b=
oot Tl Al 215 1% aalma oL
2(2+1)
:([")=‘- 3¢ Q):-g
X2
{13) - 6(’(1'1'1)“‘()(—1)3(& 1 "6(:{2—27(o-'2)
btz-i- 2)? T C;L{H,_)z 2% 2 1+J2
J'ln):o-Ei{<‘C )C=]i'J—; ; / + 0 —
N ) b

S oy o F e ol oy Rt o

ftinp)e 18 + 123 Mg .2 e L) - 30+

=

£+ 203 3+ )5 a7 2




B ALK FiR

S
5‘ () S L\lx) th C

9 ()
RH5R ko a do
L,:(x)- ,"Z'X-J —(031'3’(3 1 3"[037(.
x> 2 )L%

, 2

%cx) =b W 3ala|nrmeakd

2 . 2 ~
w<eats hinyd>o, ndears kg <o
At 13 ko Folc ArTnl

3 2
h(e) = k| S x-€oayz ALa e ¢z

7 [ W) £ 00| ; | Lk htn) & O FBs Y=hty o 77713

X240 A2 00
/r; o r>1./:53
Y=hto) ¢ y=as 2507 70 f(n'l‘:a:?f‘c

htv =0 o F¥Bofig fo -5 9307

3
a>zocz . b
2
T erdft I aASo TS | -
2
0{as<e nlcd 1o

&) f(.x)= & §(x) o ﬁﬁ‘l;Zm/isfii\'@’%'tth
2
o> o "(“ﬁﬁ'\?/}ﬂ{g = Emtf"'.

o R e j:)((,\).b=&j(k)d) 7 I71a
Joos 51757 h ). L t» 3 fﬁ]/ﬁf‘l?
3,

3
e e
ey
S = Lgliabt-f [og2 da
!
4 & 3
- &
= [:496— )Lg ]D ol [zlag’t-—k -J‘
9 3 ? 2 3
=qe—°"C"3+B+(o—()= %B-l

2
e ORI
L\.’c\ ) -+ o =%
]n.[a.) 7. N




